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QUESTION 1

Given: As a station moves away from the access point to which it is associated, it changes its data rate from 54 Mbps to
48 Mbps and then to 36 Mbps. What IEEE 802.11 term is used to describe this functionality? 

A. Dynamic Rate Switching 

B. Multirate Control 

C. Modulation and Coding Selection 

D. Rate Set Selectivity 

E. Adaptive Rate Management 

Correct Answer: A 

 

QUESTION 2

What statements accurately describe the RF cables and connectors that are used in an 802.11 WLAN system? (Choose
three) 

A. RF cables have upper and lower frequency range specifications. 

B. 75 and 125 ohms are the typical impedances of 802.11 WLAN connectors. 

C. Two RF connectors of the same type (e.g. SMA), manufactured by different companies, may vary in specifications. 

D. Every RF connector causes insertion loss. 

E. Large diameter RF cables cause greater loss than small diameter cables. 

F. Coaxial RF cables can be used to carry Power-over-Ethernet (PoE) to an outdoor bridge mounted on a mast. 

Correct Answer: ACD 

 

QUESTION 3

Given: You are on-site to perform a post-deployment site survey. When verifying a multiple channel VoWiFi deployment
using a VoWiFi handset, which aspect is most important? 

A. Performing protocol analysis with a single wireless adapter that is scanning all channels in use 

B. Testing a constant conversation or handset tone while roaming from area to area, or performing an active survey 

C. Configuring DSCP-to-802.11e QoS maps on the handset for each access category. 

D. Verifying the orientation/polarity of all omni-directional antennas in use by the VoWiFi clients. 

Correct Answer: B 
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QUESTION 4

Given: As defined in the 802.11 specification, legacy Power Save requires an inefficient back-and-forth frame exchange
process. Due to this inefficiency, many WLAN device implementations use a variation of 802.11 Power Save to
accomplish the same function. 

What non-standard power save behavior is used by most Wi-Fi devices in actual implementations? 

A. Client devices ignore the TIM field and automatically send PS-Poll frames after every beacon. 

B. After each beacon, the AP attempts to empty its frame buffer by sending Wake-on-WLAN frames to wake each
dozing client. 

C. Request-to-Send and Clear-to-Send frame exchanges are used to trigger the delivery of buffered data. 

D. The Beacon interval is changed from the default 100 time units to 10 or less time units. 

E. Clients send null data frames to the AP and switch the power management bit from 1 to 0 to receive queued data. 

F. Stations send a CTS-to-self frame to the AP with a very long duration period so they can receive all of their buffered
data at once. 

Correct Answer: E 

 

QUESTION 5

What problems may occur when there are hidden nodes in the BSS? 

A. Increase in downlink (transmitted by AP) frame retries 

B. High retransmission count for a subset of client stations 

C. Use of frame fragmentation with fragment bursts 

D. Excessive use of null data frames 

E. Duration values vary widely in each data frame 

Correct Answer: B 
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